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2xetiky | Ogpuorp 125 Hy 250 500 1 2 4 8
Yypaoia Hz Hz Hz KH? KH? KHz KHZ
25% 15 0.2 0.6 1.3 2.4 5.9 19.3 66.9 198
20 0.2 0.6 L5 2.6 5.4 15.5 53.7 | 180.5
25 0.2 0.6 1.6 3.1 5.6 13.5 | 43.6 | 1534
30 0.1 0.5 1.7 3.7 6.5 13 37 128.2
50% 15 0.1 0.4 1.2 2.4 4.3 10.3 33.2 | 1184
20 0.1 0.4 1.2 2.8 5 10 28.1 97.4
25 0.1 0.3 1.2 3.2 6.2 10.8 | 25.6 82.2
30 0.1 0.3 1.1 3.4 7.4 12.8 | 254 72.4
75% 15 0.1 0.3 1.0 2.4 4.5 8.7 23.7 81.6
20 0.1 0.3 0.9 2.7 5.5 9.6 22.0 69.1
25 0.1 0.2 0.9 2.8 6.5 11.5 22,4 61.5
30 0.1 0.2 0.8 2.7 7.4 14.2 | 24.0 58.4
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